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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
556 + 10 = 55-10= 148 + 100 = 568 - 100 =
402 +10= 458 - 10 = 712+ 100 = 162-100=_
822 +10= 374-10= 766 + 100 = 537-100 =
61+10= 440-10= 529 + 100 = 781 - 100 =
248 + 10 = 797-10= 678 + 100 = 261 - 100 =
285+ 10 = 114-10= 756 + 100 = 206 - 100 =
138 + 10 = 239-10= 467 + 100 = 482-100=
710+ 10 = 700-10= 473+ 100 = 886 - 100 =
18+10=_ 866 - 10 = 263 + 100 = 349-100=
780+ 10 = 437-10= 711+ 100 = 785 - 100 =
704+ 10 = 351-10= 166 + 100 = 271-100=
614 + 10 = 486 - 10 = 433+ 100 = 540- 100 =
124+ 10 = 827-10= 636 + 100 = 779 - 100 =
698 + 10 = 863-10= 587 + 100 = 268 - 100 =
110+ 10= 83-10= 228 + 100 = 961 - 100 =
17+10=__ 718-10= 788 + 100 = 883 - 100 =
873+ 10= 898-10= 230 + 100 = 128-100=_
882+ 10 = 536-10= 64 + 100 = 251 -100=
875+ 10 = 606 - 10 = 119 + 100 = 275-100=
665 + 10 = 571-10= 729 + 100 = 991 - 100 =
943+ 10 = 424-10= 152 + 100 = 460 - 100 =
855+ 10 = 342-10= 544 + 100 = 576 - 100 =
451+ 10= 757-10= 60 + 100 = 219- 100 =
70+10=_ 755-10= 859 + 100 = 281 - 100 =
505+ 10 = 867 -10= 650 + 100 = 829 - 100 =
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Adding and Subtracting 10s and 100s Name: Answer Key
Fill in the blanksfor each problem.
556+ 10= 566 55-10= 45 148+100= 248 568-100= 468
402+10=_ 412 458-10= 448 712+100=_ 812 162-100=__ 62
822+10= 832 374-10= 364 766 +100= 866 537-100= 437
61+10=_ 71 440-10=_ 430 529+100= 629 781-100=_ 681
248+10= 258 797-10= 787 678+100= 778 261-100= 161
285+10= 295 114-10=_ 104 756+100= 856 206-100=_ 106
138+10= 148 239-10= 229 467 +100= 567 482-100= 382
710+10=_ 720 700-10=_ 690 473+100= 573 886-100= 786
18+10= 28 866-10= 856 263+100= 363 349-100= 249
780+10= 790 437-10= 427 711+100= 811 785-100= 685
704+10=_ 714 351-10= 341 166 +100= 266 271-100= 171
614+10= 624 486-10= 476 433+100=_ 533 540-100= 440
124+10=_ 134 827-10= 817 636+100= 736 779-100= 679
698+10= 708 863-10=_ 853 587 +100= 687 268-100= 168
110+10= 120 83-10=_ 73 228+100=_ 328 961-100=_ 861
17+10=_ 27 718-10=_ 708 788+100= 888 883-100=_ 783
873+10= 883 898-10=_ 888 230+100=_ 330 128-100=_ 28
882+10= 892 536-10=_ 526 64+100= 164 251-100=_ 151
875+10= 885 606-10= 596 119+100=_ 219 275-100= 175
665+10= 675 571-10= 561 729+100= 829 991-100= 891
943+10= 953 424-10= 414 152 +100= 252 460-100= 360
855+10= 865 342-10= 332 544+100= 644 576-100= 476
451+10=_ 461 757-10= 747 60+100=_ 160 219-100= 119
70+10=_ 80 755-10=_ 745 859 +100=_ 959 281-100= 181
505+ 10= 605 867-10= 857 650+ 100= 750 829-100= 729
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